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101|R#A7 L 122 50 72| Kg |EE 1,944 432| & 2,160 540
102|357 L 1,479 2| 1477 Ke |EE 918 FIE 1,458 464
111|&EEF £ 663 15 648| Kg |EE 486 162| k% - BA 1,890 338
113|RAV S 53 53 Ke |EE 1,728 756

114|B5EFE 165 165 Kg e 2,592 936
15[ 1= 5 3 2| Kg |EE 1,404 FfE 1,944

117[1E 2 2| Keg R 3,623
121|hbixE 115 89 26| Kg |EE 771 270|785 1,728 1,080
134[#= = 243 198 45 Kg |B)I - =4 2,200 1,188|F 1 2,700 1,620
137|&5E.3. < 174 149 25| Kg |BER 3,888 2,700| &% 6,508 3,996
138|FmE = 101 91 10 Keg |[= 1,620 864 |15 1,296 1,026
140(5 I 9 9 Ke E[A=s 48,960 36,000
147|EZ O 88 6 82| Kg |EIS 5,400 BRE - 48 6,000 3,000
158|&TENAIEH 260 26 234 Kg |K%D 1,296 =40 1,998 1,296
201|{Lb L 843 843| Kg X 432 216
203|/Né L 83 83| Kg FfE 351 135
205|5u8 L 472 472|  Kg KI5 594 486
206| 1 632 632| Kg I 1,320 324
208| Mo % 91 91| Kg R 1,944 595
210{1F AL 10 10| Kg RI5 1,847
212|&5E.3 Y 840 840| Kg El - BERE 2,938 1,080
251|< £ <3 309 309| Kg FIE 7,344 3,563
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254|ED12ELCA 582 29 553| Kg |FE 1,296 2Pl 1,944 1,080
3031 A 7Ly 630 630 Kg LA - RIE 864 400
305[£Aah 0% 29 12 171 Kg |dE 1,620 FE 2,376 2,088
306|L e k) 5 5 Kg |RIE 540

3191 h o 339 74 265 Kg |SB1IR 1,612 1,404| 1R - AR 1,836 864
3321 WA =EF 109 109 Kg JbF 2,052 1,836
351|4£ 8 5 5| Kg FEE 4,644

3541 <Y 155 110 451 Kg |TE 1,404 1,188+ E 1,404 540
3/5|HEY) 85 5 80| Kg [FE 864 F - PE 1,620 600
356|L LA 40 40| Kg SER 1,512 1,080
3577/~ E 48 48| Kg FEE 1,782 1,080
362| & 301 301 Kg FJE 3,024 486
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507|@— L Ly 20 20| Kg =] 702
523| A EARAT 2 O 147 147 Kg =] 4,320 1,000
558| 40 40| Kg b 972 324
560|487 2 471 471 Kg =] 2,450 900
566|455 HE A < 15 15| Kg b 4,212 3,672
5764 X 1F 100 100[ Kg b 1,100 1,050
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70110 BA 334 100 2341 Kg |EE 4,085 3,480| = 2,754 1,350
709|Lb LALF 6 6 Kg FE 783
710(2 2 AT 117 1171 Kg R 1,296 522
BlEFAI L 173 106 67| Kg |B1R 824 75| 900 580
755|FH&» C 52 52| Kg 3 1,296 679
T56(FNET 23 23] Kg SR 1,144 1,137
76l|b Y AEE 6 6 Kg FJE 2,700
76713725 WD 21 21 Kg EE 1,260 1,188
801 [3BATL = 1S 133 133 Kg gl 3,456 540
802 1 30 301 Kg blo ] 1,296
805 = 1E 322 3221 Kg bF 972 518
810|FAKXF 147 1471 Kg B =2 2,835 1,674
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